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INSTRUCTIONS
. Answerall the questions and numberyoursolutions correctly.—

_

2. Question 1 of this question paper entails multiple choice questions with options A to
D. Write downthe letter corresponding to the best option for each question.
For Question 2 and 3 you are required to showclearly all the steps used in the

calculations.

3. All written work MUSTbe donein blue or blackink.

4. Untidy/illegible work will attract no marks.
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—
_ . Non-programmable calculator without the cover.

 

 



QUESTION1 [30 MARKS]

1.1

1.1.1

1.1.2

1.2

1.3

1.4

Evaluate the following:

2=— 1.60.75

A & —
20 16

C 1 pn =
200

VB =VBxvF

A. 49 B. 33.20

C. 2401 D. a1

2
 The algebraic expression: oat simplifies to:

A (x-2)(x+2) (x+2)(x+2)

: (2x+3)(x-2) , (2x-3)(x-2)

C. ete) D. BE
(2x+3) x

Determine the sum to be invested for 4 years at 12.5% per annum

compounded monthly to amount to N$65 000at the end of the investment

A. N$39 526.59 B. N$106 890.83

C. N$40 579.18 D. N$40 000.00

Edgars Stores bought new dresses in South Africa for N$840 each. Before
selling them to the public, they put a 150% mark up, added 15% VAT and
deducted 25% discount as they were soiled by the heavy rains in Cape Town.
How muchdid Nahole buy this dress from Edgars?

A. N$792.75 B. N$1 811.25

C. N$1496.25 D. N$1 086.75

[3]

[3]

[3]

[3]

[3]



1.5

1.6

1.8.1

1.7

18

1.8.1

1.9

Determine the length in metres of the following measurements:

350 mm + 324 cm + 19.41 m+ 0.027 km

A. 35919.41 m B. 296.15 m

C. 693.44 m D. 50m

lfx =-3; y= 5 and z= - i determine the following:

f 6yz + 3xz

A. 1.73 B. 2.45

Cc. v3 D. O

Solve the following inequality:

2-3x <x+2
5

A. x<0 B. x<-1

GC. x>-I1 D. x>0

rA=[9 Glaree=[2 Gl
determine the value of x.

A. 1 B. 0

C. 2 D. 4

Solve the following logarithm: log, 32 — log, 16

A. 1 B. 2

C. 32 D. 16

[3]

[3]

[3]

[3]



QUESTION 2 [35 MARKS]

2.1 Remove brackets and simplify the following algebraic expression:

2x*y3 (3x — 4y)? — 2x*y3(3x — 4y)(3x + 4y) — 16x?y*(2y — 3x) [6]

2.2  Factorise the following by grouping:

8x3 — 12x?y — 18xy? + 27y3 [4]

2.3 Given points A(—4; 9); B(4; —3); and C (—6; -1)

2.3.1 Find the equation of line AB.

2.3.2 Find the length of the segment AB.

2.3.3 Find the equation of the line parallel to AB through point C.

2.3.4 Find the equation of the line perpendicular to AB through point C. [12]

2.4 Out of 720 students interviewed, it was found that 370 speak
Afrikaans (A), 110 speak neither Afrikaans nor Oshiwambo,(O).
Furthermore, (x + 14) speak Oshiwambo only and x speak both

languages.

2.4.1 Draw a Venn diagram to represent the information given above. [5]

2.4.2 Solve forx. [3]

2.4.3 Determine the numberof students who speakAfrikaans only. [2]

2.5 How long will an investment double its value at an interest rate of

11.5% p.a compoundinterest? [3]

QUESTION 3 [35 MARKS]

3.1. Formulate andsolvethe following word problem:

Whenhalf a numberis subtracted form double the number the answer

is one more than the number. Whatis that number? [3]

3.2 Find the term of this sequence 15; 12; 9;........... whichis equal to — 39? [3]

3.3. Johnson saves N$500thefirst month and every month later N$100 more

De Clerk starts with N$500, but increases the amount by 10% each

month. Shindodola saves N$10 000 thefirst month and every monthlater

4



20% less. Who will have more after 17% years later and how much more? [10]

3.4. Some Mathematics teachers at NUST wentwith their students to

Groove Mall for a movie night. One group comprised of 5 teachers and

5 students and they paid N$1 250 for their tickets. The second group

comprised of 3 teachers and 2 students and they were charged N$650.

Determine the cost paid by one teacherand one student using Cramer'srule. [7]

on [4 2 _f1 4
3.5 Given: A= lo 5 and B= | 3

Determine:

3.5.1 At

3.5.2 Br

3.5.3 B1A [9]

3.6 Jagger bought a car for N$2800 in 1980. A similar car now costs

N$348 000 today. Whatis the inflation rate of cars overthis period? [3]

  END OF EXAMINATION  



           


